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Step B. 1ttE &%

1. All of the sales associates here do as much as possible to help customers decide to

do the work themselves, but we also lose quite a few sales to people who lack the

confidence to tackle a do-it yourself job. 20238hd = A}kl

E

2. Some psychologists refer to knowing feeling as “the feeling of rightness”, and it's a

strong and pervasive one because we dislike not understanding something that is

relevant to us. 20238t d = Al#stw

3. We are designed to feel very uncomfortable when something does not make sense to

us because discomfort motivates us to figure things out, whether it be a mysterious
rustle in the bush, the confusing betrayal of a friend, or the promotion that we didn’t
get. 202381d & A}l x rustle: A A= A4
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4. The donated food should be non-perishable like canned meats and canned fruits.

20218t %= 5

5. A few mixed-up letters, a couple of crumpled papers, and some help from Daddy

later, he handed me his heart on the page. 20178td %= 9¢ R H7} * crumpled: 7-74 %

6. Recently, researchers have suggested that the purpose of laughter is not just to

communicate that one is in a playful state, but to actually induce this state in others as
well. 20158td = 6¢ R o|H7}

7. He was not sure if he could play as well as before the injury. 20228hd %= 9¢

2997}




8. Her life-long dream to find rare fossils of dinosaurs was about to come true.

20228 %

9. When websites ask you to check a box saying “Don’t ask me again,” a lot of people

are happy to check that box. 20198Hd %= A}348}ul

10. Less than a quarter century ago the best scientific guess as to the nature of our

planetary neighbors presupposed the presence of large amounts of water. 20198Hd %=
A} 28}

11. Life is about winning, not necessarily about winning against others but winning at

- >~

being you. 20218t d % 5

E
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12. He published his second mathematics paper, [in that / in which] he gave the

modern definition of ordinal numbers, at age nineteen. 20158t d = 9¢ R o7}

13. The concept of humans doing multiple things at a time [has been studying / has
been studied] by psychologists since the 1920s, but the term “multitasking” didn’t exist

= =1

until the 1960s. 20158td = %

14. Although the Internet seems truly global these days, less than half of the world’s

population [has / have] access to it. 20168t d %= 69 2|7}
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Globally, youth electoral participation is low. Low youth turnout is likely consequential, as
political parties tend to pursue policies that favor older citizens, who vote at higher rates.
The reasons underlying such relatively low youth electoral turnout are a source of ongoing
debates. It is possible that some youth want to engage in politics through voting but face
high barriers to participating in the electoral process. In this case, lowering participation
barriers should result in greater youth turnout. Alternatively, nonvoting youth may be
uninterested in politics, or may not believe that elections are an effective means to bring
about desired policy outcomes. In this case, lowering participation barriers is unlikely to
result in greater turnout without structural changes to the political system. Whether lowering
participation barriers can increase youth turnout is therefore an open question a scientific
experiment helps address. Some researchers thus conduct a randomized controlled trial to test
several scalable (i.e., able to reach a large number of voters at a relatively low cost)and
theoretically grounded ways of encouraging youth turnout by lowering barriers to electoral

participation.

L 4

Although lowering participation barriers for voting youth should  (A)  greater youth

turnout, it may be _ (B) _ for nonvoting youth who are not interested in politics.
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All [of the sales associates here] / do as much as possible

HSAH B

/ to help customers decide

/ to do the work themselves, / but we also lose quite a few sales / to people / [who
lack the confidence / to tackle a do-it yourself job.] 2023shd %= A}3kstal
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participation.

Globally, youth electoral participation is low. Low youth turnout is likely consequential, as
political parties tend to pursue policies that favor older citizens, who vote at higher rates.
The reasons underlying such relatively low youth electoral turnout are a source of ongoing
debates. It is possible that some youth want to engage in politics through voting but face
high barriers to participating in the electoral process. In this case, lowering participation
barriers should result in greater youth turnout. Alternatively, nonvoting youth may be
uninterested in politics, or may not believe that elections are an effective means to bring
about desired policy outcomes. In this case, lowering participation barriers is unlikely to
result in greater turnout without structural changes to the political system. Whether lowering
participation barriers can increase youth turnout is therefore an open question a scientific
experiment helps address. Some researchers thus conduct a randomized controlled trial to test
several scalable (i.e., able to reach a large number of voters at a relatively low cost)and

theoretically grounded ways of encouraging youth turnout by lowering barriers to electoral

L 4

Although lowering participation barriers in the electoral process should

@A)

greater

youth turnout, it may be _ (B)  for nonvoting youth who are not interested in politics.
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